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Answer either in English or in Assamese

1. Answer the following questions either in
one word or in one sentence : 1x10=10

PP R See @bt = 31 «b IS f

(a) When. was the Treaty of Westphalia
signed?
aEcehm A ofem TreRe (=few 2
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()

(c)

(d)

(2)

Who was the ruler of France that laid
the foundation of absolutism in France
to the extreme?

TIM (PN (TS XPESE (PR GRa X
TR T FreEea e ot mem sRRe o

Who laid the foundation of powerful
Prussian Kingdom?

et 25 IR b @Rm Tem aRfee 2

What was the ‘Warm Water’ Policy of

" Russia?

(e)
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FRAR ‘o[ AT NS & onfe 2

Mention any one of the enlightened
despots of Europe.

LRE U @ & =R prrdR w1
g

What was ’faillg’ in France Prior to the
French Revolution?

FA0 Regs AR F10 opR dRpy (Taille)
& =nfez 2

( Continued )

(3)

{g) Mention any one of the Declarations of
the National Assembly of France in
1789 CE.

b TR FE0 (PR TRl RO R IeA
9BT AT STEY 9

(h) Who was made the King of France after
the Revolution of 1830 CE?

Sroo 5] TR0 Rede s @ &g T
CPR < *f9 (2R 2

() In which battle Napoleon III was
defeated in 1870 CE?

TON GRAA Stao TR (YT J&S °IT3
&feE 2

() Who was Joseph Mazzini?
QIEF Q& e wifRE 2

2. Answer the following questions in brief :
o 2x5=10
e erpa oS o Teq i
(a) “Reformation Movement led to the

division of Christian religion into two
major sects.” What were the two sects?

‘PR AT FEE 6 o ol
fRfea 1”7 IR B [ 2
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(4) (S)

(p) Mention two provisions of the Treaty of (b) The Second Partition of Poland

the Pyrenees (in 1659). A Bew Reem
ARl pRE (Sves 5)J 781 7 BEY 40 |
{c) Treaty of Utrecht, 1713
() Mention two provisions of the First 30 1 @2 (Utrecht) &
Partition of Poland (1772 CE). '
5993 W9 29 ¢oMes RewmeR o1 v Sea (d) Jean Jacques Rousseau
I N
I (SR ¥0
d) What were the two impacts of the fall - .
(@ Bastille? P € of A (e) Third Estates in France
RBIRET ~Ioa o1 2o BTEY 3 | Pl G PO B9

(e} Mention the two provisions of the Treaty
of Frankfurt (1871).

Svrad TGP D R BT vt B 311 | e e R e wifeR Ses i

4. Answer any four of the following questions :
10x4=40

(@) Who was Colbert? How far did his

. reform benefit France?
3. Write short notes on any jfour of the

following : 5x4=20 IWH @R ARA? (€T TP T4
FafRe Rerrm R e ot ere oy Grer R R Sl R 2
foran
() How far was the claim of Louis XIV,
(a) The Fronde “] am the State” justified?
o v R WA, TR B R Rt 2
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(c)

(d)

(e)

22A/372

(6)

What were the main causes of the Thirty
Years War in Europe? Enumerate the
results of the war.

TAere 1 I I@T AR IR & R
wfeet 2 A FAETZ I 3|1

How did Frederick II the Great make
Prussia a powerful State?

W Ben el @@ o aw
Rt cpt RBoreet fRafds waidRe 2

Do you agree with the view, “Peter the
Great was a barbarian of genius”? Give
your views.

‘o PBR 9T SPTE Ss OFF  (RUPTom
IS wfest” eﬁaswﬁ—@m@mv
(IR Y& ST |

What were the social and economic
causes of the French Revolution of
17897

Sars TR T R R W WA
IRPR R 7 ke 2

( Continued )

(9

(h)
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(7))

Give an account of the internal reforms
of Napoleon Bonaparte.

Feolferm mmm—lﬁqwmaﬁ
g fan o

Analyze the causes and results of the
Crimean War (1853-1856 CE).

fofar @ (Sveo-dves W) IRA U
FArEE AL A |
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